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FACULTY OF COMMERCE
B.Com. (First Year) (Second Semester) EXAMINATION
APRIL/MAY, 2024
BUSINESS STATISTICS AND MATHEMATICS
Paper—(BC-2.2)

(Friday, 12-04-2024) Time : 10.00 a.m. to 1.00 p.m.
Time—3 Hours Maximum Marks—T75
N.B. :— (i) Question No. 1 is compulsory.

(1) Simple calculator is allowed.
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1. Compute Laspeyre’s, Paasche’s and Fisher’s ideal index number from the
following data : 20
2021 2022
Commodity
Price Quantity | Price Quantity

Wheat 10 60 15 50

Ghee 12 50 20 40

Fire wood | 14 40 25 30

Sugar 16 30 30 20

Cloth 18 20 35 10
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2021 2022
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g 10 60 15 50
qJ 12 50 20 40
R 14 40 25 30
E3IECEY 16 30 30 20
CAEES 18 20 35 10

A box contains 5 black, 6 white and 4 green balls. Two balls are drawn at

random from this box. Find the probability that : 15
@) Both are black balls

(1) One is black and other is green

(ziz)  Only one ball is black.
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Or
(feram)
A committee of 4 is to be formed from 15 boys and 3 girls. Find the probability
that :
() Exactly 1 girl is included
(1) One particular girl is always included

(zii)  Exactly 2 girls.
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Find the value of : 15
) 2OC4
@) 10p,
6!
CONNETPETE
frma =
@) 2004
G) 10p,
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Find out permutation of the following letters of the words :

@ FAILURE

@)  ALLAHABAD

@) COMMITTEE.
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@ FAILURE

@)  ALLAHABAD

@) COMMITTEE.

3 1 1
rA=|4 4 1,
3 5 6
@) 4A + 3B
G) 2A - B
Gii)  AB.
3 1 1
ST s A= 4 4
3 5
@) 4A + 3B
Gi) 2A - B
Gii) AB.
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WT ( 5 ) NA—63—2024
Or
(feram)
Find the difference between the simple and compound interest on Rs. 50,000

at 4% p.a. for 5 years.
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5. Write short notes on (any two) : 10
@) Types of Matrix
(@) Need of Index Number

(zii)  An agent is entitled for a commission of Rs. 700 @ 7% on turnover.

Find the amount of sale.

(tv)  Age of Rani and his father are in ratio of 1 : 4. If sum of their age

is 90 years, find their age.
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